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® H 28768 | 5A7H | 6840 | 7A8H | 8A5H | 9A3H [ 10A1E [ 11A5E [ 27 [ THeH [ 28e8 [ 3HsE | P | m/n | THOE |C B I L s
PH 7.6 7.5 15 7.5 7.7 7.6 7.8 1.5 7.5 7.4 7.6 7.6 5.8~8.6 0% 7.6 ( 14 ~ 7.8 ) 7.6
=33 BOD 4.3 3.7 4.2 2.6 2.0 3.0 3.2 3.0 3.9 2.2 5.2 3.4 25 0% 34 ( 2 ~ 5.2 ) 3.4
SS 14.8 10.8 8.0 6.8 6.0 9.6 9.2 6.4 6.0 4.8 8.0 6.0 50 0% 8.0 ( 4.8 ~ 14.8 ) 8.0
iE DO 8.8 8.0 8.3 7.9 7.5 7.6 8.4 8.7 8.3 8.9 8.3 8.7 8.3 ( 15 ~ 8.9 ) 8.3
KIGE R 4,300 630 370 440 2,300 750 380 2,300 930 1,300 1,900 1,100 3000 8% 1400 ( 370 ~ 4300 ) 1400
= nAFHVE S <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 5 0% <1.0  JC <1.0 ~ <1.0 ) <1.0
2x/—)LE 1 #DIV/0'] #DIV/0! |( 0 ~ <0.005 ) <0.005
biy R <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 3 0% <0.04 | <004 ~ <004 ) <0.04
X 0.03 0.02 0.01 0.02 0.02 0.02 0.01 0.03 0.02 0.01 0.05 0.03 2 0% 0.02 ( 0.01 ~ 0.05 ) 0.02
pic] AR ESE <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 <0.06 3 0% <0.06 J( <006 ~ <006 ) <0.06
BRIV AY <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 0.02 <0.02 <0.02 3 0% <0.02 JC <002 ~ 0.02 ) 0.02
B pI=PN <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 2 0% <0.04 | <004 ~ <004 ) <0.04
PYES 0.2 0.3 0.3 0.3 04 0.3 0.3 0.4 0.4 0.3 0.4 0.3 8 0% 0.3 ( 0.2 ~ 0.4 ) 0.3
HEIHL <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 0.1 0% <0.01 JC <0.01 ~ <001 ) <0.01
ST <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 1 0% <0.1 ( <0.1 ~ <0.1 ) <0.1
¥ <0.1 <0.1 1 0% <0.1 ( <0.1 ~ <0.1 ) <0.1
Fol £ <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 0.1 0% <0.01 JC <0.01 ~ <001 ) <0.01
pfizd=PN <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 <0.04 0.5 0% <004 | <004 ~ <004 ) <0.04
ftE <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 0.1 0% <0.01 JC <0.01 ~ <001 ) <0.01
JKER <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.005 0% <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
= 7 ILXILKER <0.0005 <0.0005 R 0% <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
PCB <0.0005 <0.0005 0.003 0% <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
MyaRIFLY <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.3 0% <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
Th790RIFLY <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 <0.0005 0.1 0% <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
) oHO0ARy <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 0.2 0% <0.002 |( <0.002 ~ <0.002 ) <0.002
gk RE <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 0.02 0% <0.0002 |( <0.0002 ~ <0.0002 )| <0.0002
1, 2—Y'hon14y <0.0004 <0.0004 0.04 0% <0.0004 |( <0.0004 ~ <0.0004 )| <0.0004
1, 1—=Yh00IFLy <0.001 <0.001 1 0% <0.001 J( <0.001 ~ <0.001 ) <0.001
g YA—1, 2—Y HOAIFLY <0.001 <0.001 0.4 0% <0.001 J( <0.001 ~ <0.001 ) <0.001
1, 1, 1—kM)y00I3y <0.005 <0.005 3 0% <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
1, 1, 2—HM)y00I3y <0.0006 <0.0006 0.06 0% <0.0006 |( <0.0006 ~ <0.0006 )| <0.0006
1, 3—h007°'0A™Y <0.0002 <0.0002 0.02 0% <0.0002 |( <0.0002 ~ <0.0002 )| <0.0002
FI5 ., <0.001 <0.001 0.06 0% <0.001 J( <0.001 ~ <0.001 ) <0.001
ROV <0.001 <0.001 0.03 0% <0.001 J( <0.001 ~ <0.001 ) <0.001
FARAILT <0.001 <0.001 0.2 0% <0.001 J( <0.001 ~ <0.001 ) <0.001
¥y <0.001 <0.001 0.1 0% <0.001 J( <0.001 ~ <0.001 ) <0.001
1F5% 0.11 012 0.15 0.13 0.17 0.19 0.10 0.11 0.15 0.16 0.14 0.13 10 0% 0.14 ( 0.1 ~ 0.19 ) 0.14
FUEST. FUESSY L BIME R A 1.9 2.8 2.0 1.9 2.2 2.3 2.9 2.9 2.6 2.0 4.0 3.7 100 0% 2.6 ( 1.9 ~ 4 ) 2.6
L <0.001 <0.001 0.1 0% <0.01 JC <0.01 ~ <001 ) <0.01
1, 4—FFH <0.005 <0.005 0.5 0% <0.005 J( <0.005 ~ <0.005 ) <0.005
£EF 3.0 3.7 3.1 3.0 3.7 3.4 3.6 41 4.0 3.0 5.6 5.5 3.8 ( 3 ~ 5.6 ) 3.8
EXPS 0.12 0.08 0.1 0.08 0.21 0.06 0.14 0.15 0.67 0.09 0.12 0.16 0.17 (006 ~ 0.67 ) 0.17
A4 RuEmEHEH 0.06 <0.05 <0.05 <0.05 <0.05 0.05 <0.05 <0.05 <0.05 <0.05 0.06 0.07 <0.05 J( <005 ~ 0.07 ) 0.05




